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What happens if the renters interacts
with multiple provers
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Does having multiple proven help

Possibly not one can simulate multiple
provers using a single proven

True only if all provers are aware

of each other's questions or answers
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Return to MIP NEXP

In Can the MIPresalf be
scaled down logarithmically
to yield a corresponding
result for NP
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Scaling down

PCP Theorem BELS AS ALMSST
There exists a constant Q et

FL E NP there exists a constant c

L E PCP clogs Q

Succinctly NP PCPflogn
Rematch 3 S K Yate

c I
Q 2 G 1 PCP E P

PCPLodogn BE P

MAX3SAT

Input cf C NE Acm
G clause of 3 laterals

Coal Find an assignment that
satisfies the most number of

clauses
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